Ch4

Day I 4.4 — F(X) NOTATION
o REMEMBER!
OBJECTIVES: f(x) is not “f times x™!
1) Find the sum, difference, product, and quotient of functions.
2) Find the value of a function for a given value of x. fx)=___
3) Find the composition of functions.
| EVALUATING FUNCTIONS WITH A GRAPH |
Use the graphs above to compute the following:
1) h(2) =Y 2) g(2) =-lo
29 (2 -0)
g0) -6 _|-3
3 =~ 2 — —_ = = 4) h -3
) h(2) 94 2 ) h(9(=2))

4(-23)=0 so Cwnd (D).
hO)=D

[ WITHOUT A GRAPH ] ‘(\(50"5)) =0
Let f(x)= —x*> +2x* and g(x) = —6x —2. Evaluate the following:
1
5) f(2) 6) g(-3) 7) % = %
£(2) = —(2)+ 2(2Y 9-3)= —C(-2)-2 . N
- 0= (-0 2(-0
-2+8 2-2

B ) =le2=3
) '\g : G(I= -¢()-2 = -g

/RULeg: - \ If f(x)=2x+5 and g(x)=x-1 find:
e Sum: (f+9g)(x)=f(x)+g(x) 8) (f +9)(x) 9 (f-9g)(x)
e Difference: (f-g)(x)=f(x)-g(x) € +9)0)= C(q*gtx\ (F-9)0= €6 - 409
e Product: (fg)(x)=f(x)eg(x) = 2xay o x-\ = 2% S — (x=1)
. f f(x) (F+a)3) =| 3y 44 = 2% - x +\
ko Quotient: (g (x) = g(x) ) @ (£ —9)x) = @
10) (fa)(x) w (2o
T
(2«5 Y-V 9) o)/ sty
= -2 A -S = _1’:5
e

(£ = \zxm/mxa




COMPOSITION: Use the output from one function as the input for another.
“f of g of x” “g of f of x”

(fo9)(x)=F(g(x)) (9°)(x)=g(f(x))

To simplify: 1) Plug x into g.
2) Use the result from step 1 in f.

If f(x)=3x*and g(x)=2x-1, find:

12) (fog)(3) = £(4(3) 13) (92 f)(3)79 (£ 14) (fo£)(3) = £((3)
ARz 20 R(S)3(e) flay= 3(3)> 13 £3)= A F= 27
E _ R
2(;{ ) 923)= 223 £(22)7 3(23)
= 7 =SY-I _
fg3)= 15 =§3 n Y E: ¥ :.a )
a9 Sorng
l 29 ‘/= 3(7121)
15) (fog)(x)= £(40) 16) (g f)(x) jq/w _F%%
3))" 4L
E(x)= 3x™ g(x)= 2% -\ ( /—}
£ = 3(2x-) 4 (F(x) = 2(3) -\

T 3 —4x ) \j(qﬂ)t o -\ \
\F(@Lx)V ﬁlx"—\zka

If f(x)=x-1and g(x)=x*-3x+1, find:

7 (605)(4 18) (£+)(x
300 = %> - 3% «\ L= x -\

3(-@(\(\\: (X—()z,g(k -0 <\ -p(g(x))'» - 3x+l —|\
\@( L) = x*-3x)
> 9
TX T Ix ol -3% 43 ¢

6(1:( x)) = xﬁ




YOU TRY!

1) Find (f + g)(x)and (f — g)(x), when f(x) = 3x*> —2x*> +5x -1, g(x) = x* + 7x —1. Simplify your

answer. (£ +§x\ = 232252 « Sy~ + (x4 % -L) G: —ﬂYK)‘- 3x® - 2% «Sx | —(xl-e"lx-—()
T B 2x +Sx -l =x" =T +|

= l 3> -3 —2x

2) Find (f » g)(x), when f(x) = —x+2, g(x) = x+1. Simplify your answer.
(€99 = Fx«2)x=\)

- 3
“\3x o2 -2

= - x€2x—2

3) Find (fJ , when f(x) , g(x) = 3x3. Simplify your answer. HINT: 1:x =2x°
X
_(:})3 - lz x 5 (JUS“’ S\a\o'brtuy‘l' ‘H\L C?ﬂ)ohm‘k})

4) Let f(x) = 2x* —3 and g(x) = —-6x +2

a. f(g(x)) b. g(f(x)) c. f(f(x)) d. g(f(1))

('\(X\: 2.2 -32 g(x) = —bx+2 ) £ = 2)(1—_,5 . F(O: 2(01'3

a 9 :’C 2\<1’% *‘)’ w))= )(1' 1"’ —
F(stx\\= 2(-6x+2) -3 9 ) ( CEGN=2(2 %) 3 !
TEHI 2 = 2(6d 0224 4)-3 (=)= —¢(-)+2

= - 2 -
= :)’lx’—‘(’ex-*e'; (—(%(J-kl;l =8x" —2%\2 +«\2-3 =g
2|92 ex + S | = 8x-23 1 ﬂ(ccmg 3 5

Check with the key! You’ll have a video quiz check on one of these types of problems tomorrow!



